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English Ist paper Full Marks ® 50

1.  a. Poem : Head and Shoulders
b. Rainbow
2. Question answer
a. Write ten names of the parts of the body
b. How many days are there in a week? what are they?
c. How many colours are there in a rainbow? What are they?
d. Who gives Rima a Seed? What does She do on Sunday
e. What does she do on Wednesday and Thursday? What does she see on Friday?
3. Word meaning
a) Small b) tub c) plant d) hut e) yo-yo f) quil g) hurt h) visit i) vet
J) swallow
Marks distribution
Poem : 08
Q/A: 12
W/M : 08
F/B : 07
T/F : 07 (unit 1-8)
Answer in one word : 08
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English 2" Paper Full Marks : 50

1. Nouns : Common and proper (Page -13)

2. Preposition (page -68)

3. A, An, The Book : The new Grammar Tree
4. Adjective

5. Who or What am |

6. Translation

7. Paragraph
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1. Translation : 10
2. Paragraph :10

3. Grammar :30
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English 1st paper

English for today unit 1 — 20
Explore Communicative English course book — 2

Unit : 1 (Down the Rabbit Hole)
Marks distribution

1. answering questions . (5X2)10
2. Word Matching : (5X2)10
Unseen comprehension :
1. True/false - 10
2. Fill in the blanks - 10
3. Rearrange the words to make complete Sentences : 10
(text based)

Enaglish 2nd paper
Marks distribution

1. Unseen comprehension : 10

2. Paragraph writing : 10

3. Noun (Proper, common and collective)

4. Verbs : The Base form : 30

5. Nouns : Number :

6. Articles

977 ¢ T 4 @ e et 3
RIGRRAl

S1 NN ¢ IR : (€XR)0
I T
O I e wiferl (TR ¢ WR) : o
81 I WA Teq : o
€1 TER R : S0

Y | A% Tea AT : do

"i‘ﬁ[ﬁ: ¢o

Full Marks : 50

Full Marks : 50



7 3 37 ¢ '@ s fart ¢

LIGERZl
S1 TPore R : (€X8) 20
31 THR-ART 8 St
0| WA
81  OF *(WF O&d o
¢ NE R S0
Y| ASS Teq AmR : o
a7 ¢ ot ¢ i Afaew
S1 o digfes ¢ e wfea
1 e o
O M SEPE S wife
LIGERZl
S, Ay : (€X8) = R0
Q. OF WS T8q : do
O, T F A : So
8. WWW : do
ISREEAGER
S1 SEmE Al
J GRS TE
| fifeg g mrd
LSRRl
S, qG oY : (€X8)= 20
2. G ¥HE TeF : So
O, *FIZE 7 : do
8. WA(IF Taq AR : So
SR T T 9T IS
og S [ PeRsT
vod e
% 8 QI O S|
Ty ™y
S | AIFTCACHR &GS > | Yo wot
Q| QIETS C/IFT AT
AT
S, IR PR TS TIF : o
3. &% Teq : (€XR) =do
©. AT *(H &ed : S0
8. T Tex AT 7 : Yo
¢. XTI KA : d0
AN T A9
S o (PreeeT s
31 A 8 AT A (FICERT SIea) (eX8=230
O | W:(ﬁ'@‘(b‘o—b*o)
81 foirords *@ (% (AT AT AEW)
¢ efexw (T (A vY W) } o

Y1 e BIERM (e e (e Ted areiR)

S : o



English Ist paper Full Marks : 50

Seen Comprehension :

True/False ' 5
Word Matching ' 5
Rearrange 5
"Wh’ questions 10
Unseen Comprehension (fill in with clues) :5
Seen Comprehension:
Q/A-10
Letter - 10 } 20
English 2nd paper Full Marks : 50
1. Nouns : Compound, collective, concrete and abstract ' 5
2. Verbs : forms :5
3. Verbs : The-ing Form :5
4. Interjection :5
5. Pair of word (according to Syllabus book) :5
(a-h)
6. Translation (Based on simple form of all tenses) ' 5
7. Paragraph writing (any flower except sunflower) : 10
8. Unseen comprehension :
Answering questions : 2X5=10
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English Full Marks :50

1. English For Today : unit 3-7
Marks Distribution

a. Question/Answer ; 10

b. Rearrange : 05

c. Wh questions : 05
1. Grammar :

a. Parts of Speech

b. Articles

c. Kinds of Sentences
d. Verb (Strong and weak 30 (Choose the right Answer)
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English Ist paper Full Marks : 50
1. Seen passage -1 (E.F.T Lesson 1-10) Marks Distribution
a. M.C.Q : (1x10) =10
2. Unseen passage
a. True/False : (1x10) =10
b. Gap Filling with Clues : 5
c. Matching : 5
3. Seen passage -1 (E.F.T Lesson 1-10)
a. Answering questions : (2x5)=10

b. Dialogue writing : 10



English 2nd paper

Marks Distribution

1. Articles 5

2. Parts of speech 5

3. Verbs ( Transitive and Intransitive) 5

4. Application writing (a, b, c, d) 10

(from the Syllabus book)
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5. Dialogue writing : 10
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English 11 Marks Distribution
1. Voice ( interrogative) ' 5

2. Articles (10 blanks) ' 5

3. Parts of speech (10 blanks) ' 5

4. Application 1, 2 and 3 : 10
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English Full Marks :50
Marks Distribution
1. Choose the correct answer(Unit 1-4) 5
2. Changing Sentences 3)

3. Suffix and Prefix 5



Narration

Filling gap with Articles
Punctuation

Paragraph writing 1, 2, 3, 4
E-mail writing 1, 2, 3, 4
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3. English — |

1. Seen Passage -1 (Unit 1-3)
M.C.Q 1X10=10
Matching 7
2. Seen Passage -2 (Unit 1-3)
Gap filling without clues 1x5=5
3. Rearrangement 8
. First 2 paragraphs 10
5. First 2 Letters 10
4. English — 11

I

. Suffix and prefix

. Tag question

. Gap filling with clues
. Narration

. Sentence connector
. Punctuation

. First three paragraphs 10
. First two formal letters 10
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3. English — |

1. Seen comprehension -1 (E.F.T Unit 10-12)

M.C.Q 1X10=10
Matching 1x7=7
Gap filling without clues

2. (Seen Passage -2 from E.F.T Unit 10-12) 1x5=5

3. Rearrangement 8

4. First 3 paragraphs 10

5. Three Letters 10



4 .English — Il

Grammar:

1. Transformation of sentences
2. Narration

3. Tag question

4. Suffix and prefix

5. Gap filling with clues

6. C.V Writing

7. Formal letter

¢. Affe
BlSRIRICH
SEFIETATS 8.9,8.2,8.9,55.9,55.3,52.3,32.9,39.5,59.3
wiffes
To2Wrs 29,38,3¢,Y
SEAETS b0, b. @
fare=fafes S So
AfePTRATING SEEETATS S
Afaffes ST SY.9, 50,8
Woe e (%) 20
JefeRfbf 0o
Y| IEN 8 e
faery, 9o @ bt Sy Tyl
T[T ¢ FyGreIeT Yo (X6 &)
@W Yo
Q| &g« ¢ S et
RS @ i Sy F7osyef
TG @ G 2o (XfF &%)
@W Yo
bl SR8 @GN o
QI @ oI YT L
TIH : R N
51 e e W Aifaey
@Y , 5, SO OF QAL 3¢ OF WL |
TN ¢ ISR 2o (X o)
Jffsi 9o
o M REww
5F, S0% 8 YO LT T
TR0 TSR Yo (X6 &%)
BEGREIND] 0o
N1 PRY
SO, S5O G SO Y Fif
TR0 TSR Yo (X6 &%)
BEGREIND] 0o
N R EwE

9, SIS 8 8GN L Fy<f

10

co U1 L1 OO O



TN ¢ ISR 20 (35 &)

Wﬁ 0o
3| THed Afde
ESRIBICE TGRS 3,2,9,9,50
Tifafes LTS ©

faramiafos  SIrRs b, 39, 38,

Wwoas e (F) 20

o8 |

0 |

oY |

29|

obr |

0% |

BERRIT] 0o
N R@T: 307, S5O @ Sy©F Ty Tl
(B : AT 20 (5 ere)
BERRI] 9o
RISKIERTLIIR
0T, SYOT 8 SO FI Yk
FGB ¢ G Yo (X6 &%)
b 0o
Rt @ R
YD, A, SO, SoST S Tt
(B : ST 20 (5 ere)
@W Vo
fear
3T, ST @ 38O NI TS
TG @ Gl 2o (XfF &%)
@W Vo
wdAife
UP, A% 8 So¥ N 77xf
TR SR o (35 &)
BERRIT] 9o
gfog @ [ sTeret

3T, oW 8 SN L Tl

TG e () R0

R0 |

W Yo
QAT 8 AT

b, YOO € SO LI T

os e (F) 20

D |

?lﬁ_aﬁﬁfsﬁ Vo
QIECIARIER]

8, 5, S0 8 SO L Fyf

B e () 20

?l‘:_aﬁ_ﬂ/?ﬁ L6}



